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The area between the curves y?> = x , x> =y is
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(a) 3
(b) 1
(c)
(d)

W= BN
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If y2 = 4ax and x?> = 4by then
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If y2 = 4ax and x?> = 4by then

area :%
. here area = %
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If a+ b =0 then the two lines are perpendicular

here |y2sin®6 — xysin®6 + x*(cos26 — 1) = 0
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ax? 4 2hxy + by? = 0
— a pair of st.lines through orgin .

If a+ b =0 then the two lines are perpendicular

here |y2sin26 — xysin? + x2(cos20 — 1) = 0

a+b=sin’0+(cos?’0—1)=1-1=0
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ax? 4 2hxy + by? = 0
— a pair of st.lines through orgin .
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x2—y? —4x+4y+16=0
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x2—y? —4x+4y+16=0
— (x—2)>—(y—2)°+16=0
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x2—y? —4x+4y+16=0
— (x—2)>—(y—2)°+16=0

= (y—2)°— (x—2)*=16
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— (x—2)>—(y—2)°+16=0
— (y—2)2—(x—2)?=16

It is a rectangular hyperbola
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It is a rectangular hyperbola
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